
-10
0

E
S

T: 0
Á

rea C
orte = 4.036 m

2
Á

rea A
terro = 0.000 m

2

10
509
510
511
512

-10
0

E
S

T: 1
Á

rea C
orte = 0.921 m

2
Á

rea A
terro = 0.000 m

2

10
512
513
514
515

-10
0

E
S

T: 2
Á

rea C
orte = 0.003 m

2
Á

rea A
terro = 0.764 m

2

10
514
515
516
517
518

-10
0

E
S

T: 3
Á

rea C
orte = 1.536 m

2
Á

rea A
terro = 0.181 m

2

10
517
518
519
520

-10
0

E
S

T: 4
Á

rea C
orte = 1.063 m

2
Á

rea A
terro = 1.335 m

2

10
519
520
521
522
523

-10
0

E
S

T: 5
Á

rea C
orte = 1.342 m

2
Á

rea A
terro = 0.377 m

2

10
522
523
524
525
526

-10
0

E
S

T: 6
Á

rea C
orte = 5.838 m

2
Á

rea A
terro = 2.162 m

2

10
526
527
528
529
530

-10
0

E
S

T: 7
Á

rea C
orte = 3.496 m

2
Á

rea A
terro = 1.597 m

2

10
527
528
529
530
531
532
533
534
535

-10
0

E
S

T: 8
Á

rea C
orte =

 10.024 m
2

Á
rea A

terro = 5.034 m
2

10
530
531
532
533
534
535
536
537
538
539
540

-10
0

E
S

T: 9
Á

rea C
orte = 3.223 m

2
Á

rea A
terro = 2.593 m

2

10
533
534
535
536
537
538
539

-10
0

E
S

T: 10
Á

rea C
orte = 2.688 m

2
Á

rea A
terro = 0.636 m

2

10
535
536
537
538
539
540

-10
0

E
S

T: 11
Á

rea C
orte = 0.589 m

2
Á

rea A
terro = 0.075 m

2

10
539
540
541
542
543
544

-10
0

E
S

T: 12
Á

rea C
orte = 3.442 m

2
Á

rea A
terro = 1.933 m

2

10
542
543
544
545
546
547
548

-10
0

E
S

T: 13
Á

rea C
orte = 0.590 m

2
Á

rea A
terro = 3.075 m

2

10
544
545
546
547
548
549
550
551

-10
0

E
S

T: 14
Á

rea C
orte = 6.670 m

2
Á

rea A
terro = 1.550 m

2

10
548
549
550
551
552
553
554
555

-10
0

E
S

T: 15
Á

rea C
orte = 5.979 m

2
Á

rea A
terro = 3.452 m

2

10
551
552
553
554
555
556
557
558

-10
0

E
S

T: 16
Á

rea C
orte = 2.312 m

2
Á

rea A
terro = 0.188 m

2

10
554
555
556
557
558
559
560

-10
0

E
S

T: 17
Á

rea C
orte = 3.927 m

2
Á

rea A
terro = 0.319 m

2

10
556
557
558
559
560
561

-10
0

E
S

T: 18
Á

rea C
orte = 2.300 m

2
Á

rea A
terro = 1.520 m

2

10
559
560
561
562
563

-10
0

E
S

T: 19
Á

rea C
orte = 3.042 m

2
Á

rea A
terro = 0.520 m

2

10
561
562
563
564

-10
0

E
S

T: 20
Á

rea C
orte = 2.238 m

2
Á

rea A
terro = 0.495 m

2

10
563
564
565
566
567

-10
0

E
S

T: 21
Á

rea C
orte = 4.601 m

2
Á

rea A
terro = 1.623 m

2

10
566
567
568
569
570

-10
0

E
S

T: 22
Á

rea C
orte = 0.993 m

2
Á

rea A
terro = 1.252 m

2

10
567
568
569
570
571
572

-10
0

E
S

T: 23
Á

rea C
orte = 3.035 m

2
Á

rea A
terro = 2.040 m

2

10
569
570
571
572
573
574
575

-10
0

E
S

T: 24
Á

rea C
orte = 0.324 m

2
Á

rea A
terro = 1.580 m

2

10
572
573
574
575
576
577
578

-10
0

E
S

T: 25
Á

rea C
orte = 4.313 m

2
Á

rea A
terro = 1.088 m

2

10
574
575
576
577
578
579

-10
0

E
S

T: 26
Á

rea C
orte = 2.784 m

2
Á

rea A
terro = 1.672 m

2

10
576
577
578
579
580
581

-10
0

E
S

T: 27
Á

rea C
orte = 1.474 m

2
Á

rea A
terro = 0.328 m

2

10
579
580
581
582
583

-10
0

E
S

T: 28
Á

rea C
orte = 8.015 m

2
Á

rea A
terro = 0.000 m

2

10
582
583
584

-10
0

E
S

T: 29
Á

rea C
orte = 1.285 m

2
Á

rea A
terro = 0.920 m

2

10
579
580
581
582
583
584

-10
0

E
S

T: 30
Á

rea C
orte = 0.340 m

2
Á

rea A
terro = 1.546 m

2

10
580
581
582

-10
0

E
S

T: 31
Á

rea C
orte = 1.795 m

2
Á

rea A
terro = 0.209 m

2

10
580
581
582
583

-10
0

E
S

T: 32
Á

rea C
orte = 1.386 m

2
Á

rea A
terro = 0.835 m

2

10
582
583
584
585

-10
0

E
S

T: 33
Á

rea C
orte = 1.279 m

2
Á

rea A
terro = 0.447 m

2

10
585
586
587
588

-10
0

E
S

T: 34
Á

rea C
orte = 1.821 m

2
Á

rea A
terro = 0.702 m

2

10
587
588
589
590

-10
0

E
S

T: 35
Á

rea C
orte = 0.521 m

2
Á

rea A
terro = 0.073 m

2

10
590
591
592

-10
0

E
S

T: 36
Á

rea C
orte = 0.908 m

2
Á

rea A
terro = 0.126 m

2

10
593
594
595

-10
0

E
S

T: 37
Á

rea C
orte = 0.268 m

2
Á

rea A
terro = 0.445 m

2

10
595
596
597
598

-10
0

E
S

T: 38
Á

rea C
orte = 3.576 m

2
Á

rea A
terro = 1.180 m

2

10
597
598
599
600
601
602

-10
0

E
S

T: 39
Á

rea C
orte = 1.094 m

2
Á

rea A
terro = 0.701 m

2

10
599
600
601
602
603

-10
0

E
S

T: 40
Á

rea C
orte = 1.594 m

2
Á

rea A
terro = 0.026 m

2

10
602
603
604
605
606

-10
0

E
S

T: 41
Á

rea C
orte = 2.420 m

2
Á

rea A
terro = 1.463 m

2

10
605
606
607
608

-10
0

E
S

T: 42
Á

rea C
orte = 2.755 m

2
Á

rea A
terro = 0.054 m

2

10
607
608
609
610

-10
0

E
S

T: 43
Á

rea C
orte = 3.799 m

2
Á

rea A
terro = 0.000 m

2

10
609
610
611
612

-10
0

E
S

T: 44
Á

rea C
orte = 0.770 m

2
Á

rea A
terro = 0.507 m

2

10
611
612
613
614

-10
0

E
S

T: 45
Á

rea C
orte = 0.475 m

2
Á

rea A
terro = 0.022 m

2

10
612
613
614

-10
0

E
S

T: 46
Á

rea C
orte = 0.598 m

2
Á

rea A
terro = 0.193 m

2

10
613
614
615

-10
0

E
S

T: 47
Á

rea C
orte = 0.440 m

2
Á

rea A
terro = 0.503 m

2

10
614
615
616

-10
0

E
S

T: 48
Á

rea C
orte = 1.308 m

2
Á

rea A
terro = 0.148 m

2

10
616
617
618

-10
0

E
S

T: 49
Á

rea C
orte = 4.954 m

2
Á

rea A
terro = 2.241 m

2

10
617
618
619
620

-10
0

E
S

T: 50
Á

rea C
orte = 0.555 m

2
Á

rea A
terro = 0.710 m

2

10
617
618
619
620

-10
0

E
S

T: 51
Á

rea C
orte = 1.376 m

2
Á

rea A
terro = 0.281 m

2

10
618
619
620
621

-10
0

E
S

T: 52
Á

rea C
orte = 0.792 m

2
Á

rea A
terro = 0.323 m

2

10
618
619

-10
0

E
S

T: 53
Á

rea C
orte = 1.942 m

2
Á

rea A
terro = 0.023 m

2

10
618
619
620

-10
0

E
S

T: 54
Á

rea C
orte = 2.250 m

2
Á

rea A
terro = 0.000 m

2

10
618
619
620
621

-10
0

E
S

T: 55
Á

rea C
orte = 2.741 m

2
Á

rea A
terro = 0.046 m

2

10
619
620
621
622

-10
0

E
S

T: 56
Á

rea C
orte = 1.369 m

2
Á

rea A
terro = 0.000 m

2

10
621
622
623

-10
0

E
S

T: 57
Á

rea C
orte = 0.598 m

2
Á

rea A
terro = 0.162 m

2

10
623
624
625
626

-10
0

E
S

T: 58
Á

rea C
orte = 0.950 m

2
Á

rea A
terro = 0.031 m

2

10
625
626
627
628
629

-10
0

E
S

T: 59
Á

rea C
orte = 2.345 m

2
Á

rea A
terro = 0.842 m

2

10
628
629
630
631

-10
0

E
S

T: 60
Á

rea C
orte = 2.881 m

2
Á

rea A
terro = 0.116 m

2

10
630
631
632

-10
0

E
S

T: 61
Á

rea C
orte = 1.287 m

2
Á

rea A
terro = 1.015 m

2

10
632
633
634
635

-10
0

E
S

T: 62
Á

rea C
orte = 0.932 m

2
Á

rea A
terro = 0.005 m

2

10
634
635
636

-10
0

E
S

T: 63
Á

rea C
orte = 2.580 m

2
Á

rea A
terro = 0.000 m

2

10
635
636
637

-10
0

E
S

T: 64
Á

rea C
orte = 2.361 m

2
Á

rea A
terro = 0.000 m

2

10
636
637
638

-10
0

E
S

T: 65
Á

rea C
orte = 0.835 m

2
Á

rea A
terro = 0.004 m

2

10
637
638

-10
0

E
S

T: 66
Á

rea C
orte = 3.828 m

2
Á

rea A
terro = 0.000 m

2

10
637
638
639

-10
0

E
S

T: 67
Á

rea C
orte = 1.049 m

2
Á

rea A
terro = 0.543 m

2

10
637
638
639

-10
0

E
S

T: 68
Á

rea C
orte = 2.892 m

2
Á

rea A
terro = 0.606 m

2

10
636
637
638
639

-10
0

E
S

T: 69
Á

rea C
orte = 1.848 m

2
Á

rea A
terro = 0.566 m

2

10
634
635
636
637

-10
0

E
S

T: 70
Á

rea C
orte = 4.518 m

2
Á

rea A
terro = 0.000 m

2

10
632
633
634
635
636

-10
0

E
S

T: 71
Á

rea C
orte = 2.923 m

2
Á

rea A
terro = 2.863 m

2

10
631
632
633
634
635
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